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Accounting Final Model Test -3
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Postive Mark For Every Question : 1 | Negative Mark For Every Question : 0

1) @I AfSw?
JHICE QNN Q3T T I5CS @A it =202
A i&ii
B. i &iii
C. ii &iii
D. i &ii &iii

Correct Answer : 1 & ii

2) T I AN [T 4Fe FA1 777

A. &1 J=caw [WWE sifacy
B. 19 I9@@ @@ 7N
C. =R It weeee
D. f&o q=eaa c*ied

Correct Answer : 1R I=tzw fafme sifqcy

3) 37 TR [AFNT 6 0?2

A. IR Ra=dt
B. SI-35% fa@dt
C. 33 &=

D. ferge faaga

Correct Answer : feaer Rga

4) @I 7?2
2039 JAITETH w3 o Sifard wivR~a e dSeooo BIFt | A 3T &t S2000 BT | @ FFAABTS-
A i&ii
B. i &iii
C. ii &iii
D. i &ii &iii

Correct Answer : 1 & 11 & 1ii

5) @G AfoF?
Folfeq SIQeeiol @%(6-

A 1&1l
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B. 1 &iii
C. i &iii
D.i& 11 &iil

Correct Answer : 1 & 11 & iii

6) A & FIF0?

A. AogIITS (bF

B. &I I oL A
C. T[T OF TAFIo

D. TF° 67 Tglfe =af

Correct Answer : T[FS (6F T#glf*o =7

7) foitaa sefresa gt @?

A. @szifiE
B. f&i=

C. «fsaq
D. FMF 3%

Correct Answer : @SR

8) R0%0 AT 75 YT F© GIT?
2039 AT ¥, AT TR WG JFF Sooooo BT, ARBITH 3 Soooo BIFT € MG So,000 BIFl | G—IGT F*IT &Alfe S0,000 BT |

A. Soooo GBIt
B. woooo 5i&t
C. Soooo Bt
D. 00000G%

Correct Answer : 500000515}

9) MW AT €514 So,000 B TN =t AlHES w2t 27 iz - 67 @G AlSF?
2039 AT ¥, 7RCTE TR WG /T Sooooo BT, ARBIT 7 Soooo BIFT € MG So,000 BIFl | GRIG FIT &ifE S0,000 BIFT |
A 1&ii
B. i & iii
C. ii &iii
D. i&ii &iii

Correct Answer : 1 & i1

10) 209 Al {31 AACo= “AfF=ier F© Bipr?
2020 AN 9% G A [ ETenf Al 93000 BT > I2CE & (A 05.08.20390 O AfRTifEs)




Srooo B!
wYooo GBIt
8000 GBI
D. a%000 BIS

Qw >

Correct Answer : ¢8co0 BI3!

11) 2029 AT beTfe Tt AR T 5Il?
2029 AN 9% G A [t ETenf Al 93000 BT S 263 & (A 0).08.2030 T AfRTxifEs)

A. Srooo Bist
B. wvooo 51
C. &8o00 GiFl
D. 4000 B

Correct Answer : db-ooo GBIt

12) =¥ =l 2lgred 4iT Sra=ly 20X -

A. TR AfFrier sl
B. ™t ifsie st
C. wifermiat Afeare wwea ~Afsier et
D. AT LT Foree @ ST St

Correct Answer : JIAIT FfLF FeIFe @ SF Sl

13) Rerre 2Iteie (e~ T Bii?

R @ BreiRrer o) ferT™e 2030 7 ST e - FF Tgn So,000 BIF, 6] FTH S¢oooo0 BIF TG ¢ooo BIF! (TOF wooo BIel
WWW ¢ooo B T Q0¢ooo B 8 R@IT (Fa@ ¢ooo Bt |

A. 0000 BIF
B. ¢eooo BIFt
C. SYooo0o0 BIF
D. oGooo Bt

Correct Answer : %0000 BIt

14) I=7 *ItT ! “Afa=2T 476 25T Yo, 000 it I @ft Ty 27,937 -
R @ BreiRrer o) ferT™e 2030 7 ST e -1 FF Tgn So,000 BI, “H6lf FT S¢oooo BIF TG ¢ooo BIF! (TOF wooo BIel
W"T@W’@ieoooﬁ‘mﬁm 20000 B 8 A& (9@ ¢ooo Bit |

A. Rey e
B. G AT T
C. W31

D. ™% e

Correct Answer : 0 %! F303




15) S @t Tefon cvea @i e Sepmd w4 2707

A. TRl
B. frersel
C. 5 qi9elt
D. ™% Jieq

Correct Answer : TFeTe!

16) fifes ware! ABIZER &) (FIFL (o Tl 27

A. dfszis

B. 3¥=q

C. sy vk
D. @eife

Correct Answer : @SR

17) SISkl (INCes &= Igfe [0 (i 219 (oft w4l =37

A. (€IS

B. g%
C. SRR
D. fafqg <55

Correct Answer : (o

18) IR stoly g Afd< At SricamT 20=?

A. ey fora ofE, Jeed fore (= fes
B. 7w o117 oG, w3 79 (et
C. @iy fio1iF (efkG, Fomis fof7 (@ ies
D. @ 277 (efkb, Ry 77 @ ies

Correct Answer : 95I¥ @371 (©fG, @ 717 @ fes

19) SIRWICE 911 2 -

A. BT IR
B. i< 3%
C. o8 3%
D. A49 32

Correct Answer : (A< 93




20) el SIferFINeT 0O (T ROl (e T, OIS F I0e1?

A. = T
B. TwiF et
C. ome el
D. 2% gt

Correct Answer : I 31T

21) @I=fs (o2
A i &ii

B. i & iii

C. ii & iii

D. i &ii & iii

Correct Answer : 11 & iii

22) @G AfoF?
AT (<ITT 1 AR 37+l &
A.i&ii
B. i &iii
C. ii & iii
D. i &ii & iii

Correct Answer : 1 & iii

23) IS FoITT “Arext A M2

A. 7 alfe
B. 3fw aiife
C. 3131 aife
D. ot ife

Correct Answer : ISt 2[if&

24) e IRTeT F?

A. T - [ T

B. T - @ WS o
C. TIY - A6

D. @Y - (N6 S=0%

Correct Answer : @Y1 - (5 57




25) SFRIREES ST 80000 BIF AFRIFATET ST ¢ 000 BIFlL ARG AfReTeT F©7?

A. 3¢000bIHt
B. 3¢ooo BIFt
C. woooo GBI
D. 80000 5IF!

Correct Answer : >¢00oBIt

26) SF [ ST A2

A. W IR
B. W 119
C. 35 i
D. =% f&7R

Correct Answer : 435 RA7

27) @B 16 ot 4 -

A. Rt
B. oiet
C. ars
D. @

Correct Answer : (&9l

28) IS w72

A. wrdcTie &
B. G50 T

C. 7w o

D. ot wf|el

Correct Answer : (oIt OZ<&

29) I=7 C¥IT AN Teqeast #Ifarsiiel T ?

20%9 AICeTH 0 TeroTFa SIfFTd AN T TTYT 80,000 BIF | 6g AT 8¢,000 BIFI | TR A ¢ooo BIH #iely Sty w2 27 |
= @A 80% Fosae e e =

©¢000 BIF
80000 GBI
8¢ooo GBI
0000 BIFl

©ONnw>

Correct Answer : 9¢ooo G




30) et F=tae HAfese F9?
200 AT 0 ferres Sifare AN TG FATT 80,000 BI | fFE AT 8¢,000 BIFF | FeHCH 2 ¢ooo I oy et K8 27|
Rt @i 80% Fooe fte 7o &

w9000 GIFt
80000 DI
8000 It
8¢ooo0 GBIl

SN w>

Correct Answer : 99000 GBI




